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HIGHER SECONDARY FIRST YEAR

Last minute study questions

CHEMISTRY
UNIT 1:

1. Define relative atomic mass.

@LIL| 3|80 [Blemm 6T WD,

2. Define equivalent mass.

FLOITEOT [Blemym UM LI M.

3. Distinguish between oxidation and reduction.
GEFRYCTHMID, 2H&SHD CaumLBSHSHI5.

4. Which contains the greatest number of moles of oxygen
atoms

i) 1 mol of ethanol ii) 1 mol of formic acid

iii) 1 mol of H20

5. Mass of one atom of an element is 6.645 x 102 g. How
many moles of element are there in 0.320 kg.

& (H H60f1L0 2187316 60TH6MMB.645 x 102 g 9L G LD.
0.320 kgeL 2_6ITeIT 248560110 & S 60T GLOIM6L

6T600T 6001 | 5560185 60) LIG5> 85600755 (h) 5.

6. How many moles of ethane is required to produce 44 g of
CO:2 (g) after combustion.

T &C&evfledr 6TiflEH 6L allemeoTufedr (LLg.6l6v 44 &)
CO2 () UMW em6U2_(HEUTHEHS CHemaeuLILI(HILD
T &G &6vf160T GLOMTEV 6T600T6001 1 60)8560) LIS
600155 (H &

7. Balance the following equations by ion electron method.
i) KMnO4 + SnCI2+HC1 — MnCI2 + SnCl4 + H20 + KCI
i) C2042_+ Cr2 O72_ — Cr3+ + CO2 (in acid medium)

iii) Na2S203 + 12 — Na2S406 + Nal iv)Zn +NO3 — Zn2+

+ NO (in acid medium)
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UNIT 2:

1. How many orbitals are possible for n =4 ?n = 4&% &
FISHWILDTeoT T LI L meL&serfleor
6T600T600T 18560 & Ul 6mreor GMIILILN (D &s.
2. How many radial nodes for 2s, 4p, 5d and 4f orbitals

exhibit? How many angular nodes?

2s, 4p, 5d LDMHMILD 4Ff QLTI L TL&HEHSH G
6TSHHEME0T 2,8 &Heo0I& 56T (radial node)

& I6ooT L1 (DG 60TM60T? 61585601607 G &5 T600TES
&80 & &6IT (angular nodes) &5 mevor L LI () 85 63T M 60T.
3. State and explain pauli exclusion principle.

QUeTed NI &S &5 5618 5 601608 Fo M
4. Determine the values of all the four quantum numbers of

the 8™ electron in O- atom and 15" electron in Cl atom.
0-3|e16)6V 2_6TET 86UGI 6T6VEL_[JT6dT LoMMILD Cl
— 91616160 2_6IT6IT 1561 G 6T6VEsL_[J 60T
2LHNUI6UM M [HETEOT [HITET(S (&6 T60oTL LD
61600185 61Tl 60T LOG)LIL|SH6emeTULD ST L0Medfl &8 LD.
5. How fast must a 54g tennis ball travel in order to have a

de Broglie wavelength that is equal to that of a photon of
green light 5400A?

5400A LIGFen & B sperfluileir 9jemev HeMEHM S
Fowmeor 1q LN gm&erfl oiemevBersEHlemeorl QLM
54 GIL_6dTevfl6nv LIS eTev6U6Te) Coud: g H 60
LIweoofl 8585 Geuevor(hLD?

6. What is the de Broglie wavelength (in cm) of a 160g
cricket ball travellingat 140 Km hr?,

140 km hr! Geus G & 6v Lileoof1& &L 160 g
BlenmujenL Wl Hfl&Q8L LiES! 6eoTm) 6o
19 LN7medl @emeuBeTid (cmev) & 6uoTd: E) (h &.

UNIT 3:**

1. What are isoelectronic ions? Give examples.
O CET 6TELS L6018 3{Ul6vf1 86T 6T6dT MIT6L
6TEOT6OT? 2_G T 600T M1 & 6T Q& T().

2. What is effective nuclear charge ?
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QEF WM 3|65018 85 ([H LOl60TE6MLO 6TE3T MIT6V
6T60T60T?

3. Define electronegativity.

6TELE L_JIT6OT & 6)IJ & 60T60) 06D 66D T LI M.

4. Give the general electronic configuration of lanthanides
and actinides?

6VITIH & 6ME0T(H &6 LOMMILD 3, 8519 60607 (H) & 67l 60T
QIUITSIGUITEOT 6TELEL_TITEOT 2 6mLOLILN 60Y60T &(H 5.
5. Why halogens act as oxidising agents? G&.me6v&360T8 61T
31,56M19CrMHMIWLITS Q&FWeLI(H6USI 6T6T?

6. Explain the Pauling method for the determination of ionic
radius.

3jWevfl 91785 emeot 85600TL_IIULD LITeSIMm
wenmulemeor afleurfl.

7. Explain the periodic trend of ionisation potential.

QW6 lWme: @& 2MMeN6IT 24,6175 5 60T

Qs mLFLlleneor alleurfl.

8. Why the first ionisation enthalpy of sodium is lower than

that of magnesium while its second ionisation enthalpy is

higher than that of magnesium?
GFMQWIST60T (NG56V I W6of1WIME: @GLD
SLMHMEVTETS QLGRS S L Genme;

SLEOTITEV {55607 @) T600TL_ITLD 3{Ul6dfIUlTE: G LD

SLMHMEL QDGR WSS L F&LD, 6760T?

9. Explain the following, give appropriate reasons.

(i) lonisation potential of N is greater than that of O

(i) First ionisation potential of C-atom is greater than that of
B atom, where as the reverse is true is for second ionisation
potential.

(iii) The electron affinity values of Be and Mg are almost zero
and those of N (0.02 eV) and P (0.80 eV) are very low

(iv) The formation of F- (g) from F(g) is exothermic while
that of O2-(g) from O (g) is endothermic.

10. State the trends in the variation of electronegativity in

group and periods.
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QEBMTGH&6T InMMID auflensserflev
6TEL& L_ITITEOT S6U TGS 6e0TennUll6L FHLIBILD
SLAUTE 60T LOIT MM MG N6 o MIS.

UNIT 4: **

1. Explain why hydrogen is not placed with the halogen in
the periodic table.

Heofln auiflems 9L Leuemevor uileL emaum L [ye260T
6T 60T CaUNEVEL6TEEFL60T 6M6U&H &L ILIL 6Jl606m6V?
2. Predict which of the following hydrides is a gas on a solid
(a) HCI (b) NaH.

Give your reason.

HCI oM mILh NaH 24,6\ WeTeU HMIET 6TH &

L eIk HLLIGLITIHET L5 meoTeumu.

2 _60Tgl 60885 T60T &5ITIJ600TE B 60)60TE Fon ).
3. Hydrogen peroxide can function as an oxidising agent as
well as reducing agent. Substantiate this statement with
suitable examples.

QML TR QLT T&HEMTF (D) 62(H
,5FQCTHNWLITHLD, 2,55 22607
@(HHHWTHaD QFWLLIOSRMmSI.
@158 DN 6T H&HS

T(H S & &HEHTL(H&HEBL 60T [BlemLilgaea]LD.

4. What is water-gas shift reaction?

Breurw] Lmmm 6l6m)6TeT60TM TV 6TE0TE0T?

5. Explain the exchange reactions of deuterium.

19 WL 19 f s &6 LIS (B 616016018 60761
aNlens: & 5.

6. NH3 has exceptionally high melting point and boiling

point as compared to those of the hydrides of the remaining

element of group 15 - Explain.

NH3 oy,607&1, 1510 QFHTGH U6V 2_6iTem

LN m g eoflLomi sserfleor emam L ey () &emenss
SITLIQ8VID & 2 ([H&Blenev LDMHMILD
QE&TH BtV IS Q& Mevor(H6Terng! —

6Ts: & .
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7. Compare the structures of H20 and H202.

H20 LoMMILD H202 60T 611 6U6DILOLIL| & 60)6IT
NINIC):S

UNIT 5. *

1. Discuss briefly the similarities between Lithium and
Magnesium.

IGH WD LDMHMILD QILNGHETRWSHM S
©)60)L_GUIWIITEOT 62 M MIEDLOG 66T &r(H&HEHLOMSH
alleumH & &Ha)LD.

2. Mention the uses of plaster of paris
UMFerv & MHE60T L6 em6ms GMILILIN ().

3. Explain the important common features of Group 2
elements.

@\ TetoT LMD Q& MT&HS) & 60f]L0mkIg 6rfl6or
(WDEHUWILDTET QTSI LI6ToTL] 86061 el6Td: & 5.
4. Why alkaline earth metals are harder than alkali metals.
ST 2_CeuMamIG 66T il ST LD6soT

9 _B6VITEHHIGHET &1 60T LOITEOT6M6) 6J60T?

5. Give the uses of gypsum.

S5 53 60T LILLIGOTS6M6TS &(HS

6. Which would you expect to have a higher melting point,

magnesium oxide or magnesium fluoride? Explain your

reasoning.

QL GETRIWILD 9L5608F (B 3(6V6VF GILNE 60 I UILD
Lieehenr B @eudrley 618! i) &

2 (HGBleM6eVEm LI G185 TEvoTL.(H 8 G LD eTedTm) [H
THTUTTERMTUI? O GMETEOT &ITIJ600TSH NS

alens:&.
UNIT 6:

1. State Boyle's law.
umulleder NG ullement &@Ho

2. What are ideal gases? In what way real gases differ from

ideal gases.
1560601 UI6VL| 6UITU| & 86T 6T60T LIGOTLITEm6)?

@) WI6VLL|6UITU 886 H6V60ILLIGUL
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UMW & &6rlefmbS! eTew e mm
GaumILI(RG) 6oTM 60T?

3. Distinguish between diffusion and effusion.
aflyeysev LnMHmILD LML GeumiLim() &(H5.
4. Would it be easier to drink water with a straw on the top

of Mount Everest?

6TEUQ 6NV LDenev Ul 6T 2_F& ufleor LS I6TerT
@Mall 2 MlEhT (Straw) Q& mevor(h)
Brflemere_nilehsreu g ererflgm?

5. Derive the values of critical constants in terms of van der

Waals constants.

QUMesoT LT 6UmeLeny oMl 69l 860 6mas @\ &5 mevor (b
Blemevlnmmi Lmmledl&emens &medl.

6. When ammonia combines with HCI, NH4CI is formed as

white dense fumes. Why do more fumes appear near HCI?
G Wmesflwim HCI 2_ et ellemeor Lif B3
IILTH& Q6uesoTeooiIm Ljemasulmeot NH4ACIS)
SHIMS. L|en 8 HCIS G S(HH v CHTeTmieau gl
6J60T?

7. A tank contains a mixture of 52.5 g of oxygen and 65.1 g
of CO2 at 300 K the total pressure in the tanks is 9.21 atm.

calculate the partial pressure (in atm.) of each gas in the

mixture.

300K 6V 52.5 g 21, 856r99265TLOM MILD 65.1g CO2
SL IS WeTerm QML 19ul6v Sevemreu sl esr
QLMHS SI(WLSSLD 9.21 atm. SevemeuuilsvieTer
R6UGCAUM(H U6 LGS (D8 55 emerT

&600TL M 5.
UNIT 7: **

1. State the first law of thermodynamics.

QauliL @ w886 WwedeT (LNS&H6eL NS el Foml.
2. QIUITH6OOTEMLOSF TITIT LI6ooTem LI @) revor(h)
5318 &ML (HSEHL 6T 66TsH G5,

QauliL @ W& 86l wedeT(ng 6y NS el Gnml.
3. Define is Gibb’s free energy.
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G161V SL_1Q6VIT b, MMEMEV GUEM T LULIMI.

4. Define the calorific value of food. What is the unit of
calorific value?

2 _eooredledt Gl LDHLIL| uem WM. &6V
S ILTL 19 60T 916V WITSHI?

5. What is lattice energy?

LY &8 Fa(h) bMM6V 6T60TMITEV 6T60T60T?

6. Give Kelvin statement of second law of thermodynamics.
Qeulil @uidselluleder @ mevormib elEudlesr
Q&H6L6N 60T LNGTTHIS Fn M6 For M.

7. Explain how heat absorbed at constant volume is
measured using bomb calorimeter with a neat diagram.
U sCeurfl WS Lflev, LD Seor 26mailev
QauliLlh 2 I &auLiL(h&6emev Q& erfleumeor

UL &SI 60T alenss & 5.

8. List the characteristics of Gibbs free energy.

@16 &L1960T 2L, MMedSeT AmLiLNuleuLgenerT
alens: & 5.

9. Calculate the enthalpy of hydrogenation of ethylene from

the following data. Bond energies of C—-H,C~-C,C=C
and H — H are 414, 347, 618 and 435 kJ mol—1.

LYetreupLd &yeysserfledmb g 618 %) 6Semeor
emamL IRCsarmmLDd Q& UWIWLD elemeoruil6or eTedr
gmeulll InG\LiemLl &meorss. C-H, C-C, C=C LommiLd
H-H 918\ W LN emrevor 1L 85 6rfl 6T LI 6mr6vor LIL|
QLMMEVEET (LPEMMEGUI 414,347,618 LoMHMILD 435 KJ
mol™

10. For the reaction at 298 K : 2A +B — C

AH=400 KJ mol—1 ; AS = 0.2 KJK—1 mol-1 Determine the

temperature at which the reaction would be spontaneous.
298 K Qaul1Lmlemneuulley :2A +B — C ellemeorulleor
AH=400 KJ mol-1, AS=0.2 KJK-1 mol-1 6Tevfl6v 6l6m 60t

& 60T60T | & 60V & WIS [B18L0 G55 60)61 LLIT6UT

QauLILIBlen6evemUL 85600155 () 5.
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UNIT 8:

1. State Le-Chatelier principle.

6§ —Fmlellwl 56D auemTuwml.

2. State law of mass action.

Blenm&TEH & G ullem 6ot 6uemrulml.

3. Derive the relation between KP and KC.

KP Lommib KC &@& &) 60)L_GUIUlmeoT

Qs mLFLemenr au@pail.

4. 28 g of Nitrogen and 6 g of hydrogen were mixed in a 1
litre closed container. At equilibrium 17 g NH3 was
produced. Calculate the weight of nitrogen, hydrogen at
equilibrium.

1L eLLq Ul 8560601160 28g N2 LoMMILD 6g H2
HVHSILOI M. Fnplemneuuiev 17g NH3

2 HUTHMSI. MBHLJRY6T LDHMILD

emamL Jeaeotler eTemLullement &LoBlemevuiley
&H600T5 5 (0 5.

5.The partial pressure of carbon dioxide in the reaction
CaCO03 (s) = Ca0 (s) + CO2(g) is 1.017 x 10-3 atm at 5000
C. Calculate KP at 6000 C for the reaction. AH for the
reaction is 181 KJ mol-1 and does not change in the given

range of temperature.

UNIT 9:

1. Define (i) molality (ii) Normality
eUem T M)

(i) GomevmedlL_Lq. (i) BT FOMEdLLq

2. State and explain Henry’s law

Qamerm G end Fom) 66TsH G s5s.
3. What is osmosis?

F6)eU,(HLITEU6V 6T60T:MMIT6V 6T60T60T?
4. Define the term ‘isotonic solution’.

" GFTLITE0 & GH6mJFVSHET” 6TemILD
QEFTMHUSHSHNS QU6D T WM.

5. A sample of 12 M Concentrated hydrochloric acid has a
density 1.2 gL-1 Calculate the molality

12 M QemlajemLw el Crm&Germifls
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I|Sl6v HTF6L TN SILTSH 1.2gL-1.
31567 QFMlemed GLomeumedlL1quilev
5600155 () 5.

6. The vapour pressure of pure benzene (C6H6) at a given
temperature is 640 mm Hg. 2.2 g of non-volatile solute is
added to 40 g of benzene. The vapour pressure of the
solution is 600 mm Hg. Calculate the molar mass of the

solute?
UNIT 10:

1..Explain Sp; hybridisation in BF®

BF3 eL060&:Fn 6V & meooTLILI(BID Sp2

@) 6oTESHEVLI60LI 6T 5.

2. What is dipolemoment?

@)(H (LPEEOT H([HLILIE S MEDT 6TEOTMITEV 6TEOTEOT?
3. Which bond is stronger o1l or 1? Why?

o LDMHMILD 7 LN emevorLIL| S erfl6v 6TSl
6U6016mLOWLITEOTSI? 6J60T?

4. Hydrogen gas is diatomic where as inert gases are

monoatomic — explain on the basis of MO theory.
QDL _[TE260T 6UITU|GUITEOT Sl [F 6D
LNV EMIT GLD, CHFIOWILD LDHS
GUITW| 86T 62J600I 6UIT U8 &H6ITITGLD-
eLN6VE G Ml 24T LI L_T6L (MO)

Q& meTen S UWI6dT 31 L1LIemLuflev
lens: & 5.

5. Explain the covalent character in ionic bond.

Sjwesfll) LNemevor i evieimer

FoHLILenemor LIS SeoTemnlnenl a6ms: & ss.

6. Describe fajan's rule.

SLKMeT ellFHlem 66T & 5.

UNIT 11:

1. Describe the classification of organic compounds based
on their structure.

SIfIDFCFTIOMBIHEN6T 3jeumM M6 3jeminl 1L eor

I L1LemL U6V auemsLILI(BSSHemev elleuif].

Subscribe: https://www.youtube.com/@Marutham acadamy

2. What is meant by a functional group? Identify the
functional group in the following compounds.

(a) Acetaldehyde
(c) di methyl ether

(b) oxalic acid
(d) methylamine
elemeor GIFULI6D) GI&ITEHG) 6T6vT/DITEY
eT60T60T? Lil60TOU(HLD GF TLOMIS6rflev 2_6iTerT
N eETFQF U Q& TES S Wilemeor 8 60T M 5.
(<) SIFILLTLIgeman B
() 2,5FTE 9iLbleuld
(@) OLOSFH6 TS
(FF) QD& H 6L 2 LS6dT.
3. Explain paper chromatography
SIT6T euevorevor Ll LI iflemas (pemymudlemeot
dlems: &5
4. Describe optical isomerism with suitable example
e6fl&EpOH& LTHMWSS
6T(H 5 H&H &ML (HL60T 6T & s.
5. 0.24g of an organic compound gave 0.287 g of silver
chloride in the carius method. Calculate the percentage of
chlorine in the compound.

6. Briefly explain geometrical isomerism in alkene by

considering 2- butene as an example.

2-19w, L leement 6T(N S SI&H &L LM @ 85mevor(h)
allg el LOMMHMILIMKISEn6T 64l 6md: &5,

7. Give a brief description of the principles of

i) Fractional distillation

ii) Column Chromatography

L9 68T 6U (1 U 6oTeU MM 63T 55555161 Ml 8 60) 61T

FHH &IOS 66 G5

i.LN 60607 QUL &L (H G 6V

ii. &MUl euevoresorLl LI iflenss (nemm
UNIT 12:

1. Write short notes on

(a) Resonance (b) Hyperconjucation

LfedTeumeusot LIMHN S\ mi GMILIL] 6Uen T &
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() 2_Levflemaay

(<) Yemeoor LiLfleveuIT 2_ L eoflem&ay

2. Explain inductive effect with suitable example.
SevorL_6L allemer ellemet &&HS

D _55ITIJ600T M6 & @5 L_60T 6l 6ITEs (& 5.

3. Give examples for the following types of organic
reactions

(1) B - elimination

(ii) electrophilic substitution.

LY edTeuLd elends S0l emeor 56155
9 _SHMIeOOTLD &H([HS.

(i) B - B&& ellemeor_

(ii) 6TEOLG LTI 60T HeUT QUMTIH6T LG T 6
ellem 6ot

UNIT 13:

1. Give IUPAC names for the following compounds
1) CH3-CH=CH-CH=CH-C=C-CH3
C2H5 CH3

|1
2)CH3-C-C-C=C-CH3

3) (CH3)3 C - C=C - CH (CH3)2

4) ethyl isopropyl acetylene

5 CH=C-C=C-C=CH

2. Describe the mechanism of Nitration of benzene.
QTG 6ot 6T emBL_CIT eFMM 6l emeorul6or
aflement auLdlemmullement el6ms: &

3. How will you convert ethyl chloride in to

i) ethane ii) n —butane
15TV GHCaTmengenL LI6Tel(H6U60TeU TS

6TEUGUITMI LOMMHMIGUTUI

1) &G g etr 2) n—L9wpl” GLedT

4. Explain Markow nikoff's rule with suitable example.

Oy Gameuetl& L ellElullener &5&HS

Subscribe: https://www.youtube.com/@Marutham acadamy

2 _SMJe0ors Sl 60T el6mE &8

5. How will you distinguish 1 — butyne and

2 —butyne?

1- YW, 6mL_6dT LoD 2

LWL emL_emeot eTeleumm GaumiLi(H&HS)
mleurmul.?

UNIT 14:

1. Why chlorination of methane is not possible in dark?
@ @erflev L8 G5 6vfl6oT& G miflGeorm MLD
FMTHH WLD6V6V 6760T?

2. Why is it necessary to avoid even traces of moisture
during the use of Grignard reagent?

G iflgGermr® ellenerQUT@BET SWImiflLilev
WassRnsere BT gul

S J& oL Cealeor(hLD 67edT?

3. What happens when chloroform reacts with oxygen in the
presence of sunlight?

&lw eperfludledr (pedTentlemev ullev
SCeTTCIMTLIMTILD 2455261 63T 6T6)6 MM
allemeor 1SR m&I?

4. Compare SN* and SN? reaction mechanisms.

SN* o miLd SN? ellemeorgserfledT el 6vreor
alflwenmaemerT LN (0.

5.Starting from CH3Mgl, How will you prepare the

following?

i) Acetic acid ii) Acetone

iii) Ethyl acetate iv) Iso propyl alcohol v) Methyl

cyanide

UNIT 15:

1. Define smog.

Lieof11L]6m& 66t T UM

2. Which is considered to be earth’s protective umbrella?
Why?

618l LU 60T LIMSISTLILES G 60 6T60T
&HHSILOSMSI? 676012

10" to 12" important Questions upload soon.

kindly send me your key Answers to our email id - padasalai.net@gmail.com



https://www.youtube.com/@Marutham_acadamy
https://www.youtube.com/@Marutham_acadamy
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

: i .Trb :
AR BT @& mLLA) voutube channd "
QABMGLIY: [b. FTWNSEHSTLD (DHSLH LA W), J.6T600T: 96598 38789

Subscribe: https://www.youtube.com/@Marutham acadamy

3. What is green chemistry?

LIgremLn CeuB U6 6T6dTMIT6Y 6T60T60T?

4. Mention the standards prescribed by BIS for quality of
drinking water

@QBEH W ST BNV MDEF &5 ST6V
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5. Differentiate the following

(i) BOD and COD

(ii) Viable and non-viable particulate pollutants

6. What are the various methods you suggest to protect our
environment from pollution?
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